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Attempt A/l .questions.

All questions carry equal marks.

weft T W
Define in\;estment. How is it different from speculation
and g.ambling ?. 5

The information pertaining to financial situation of Jack

Ltd. and Jill Ltd. is provided below :

Economic Probability Return Return
Condition (Jack) il
Boom 0.10 20 18
Recession 0.15 -15 -10 -
Normal | 025 2] 18
éelow Average 030 10 lé_
Stagnant - 020 8 10

Compute risk and return of a portfolio which is formed

by investing 50% of the funds in each stock. 10
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Briefly describe Harry Markowitz model of portfolio

selection. 5

Orange Cap Limited provides you the following information

with regard to two stocks, A and B : 10
State Probability R, Ry
Boom 0.10 10% 15%
Normal 040 8%‘ . 12%
Recession 050 5% 7%

Compute risk and return of stocks A and B. Which

security would you recommend ?
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R7) What do you mean by credit rating agency ? Explain the
role played by these agencies in making an investment

decision. 5

b) A bond with face value of Rs. 100 is currently available
at Rs. 97 in the market. The coupon rate i§ 12% p.a. The

maturity time is 5 years and interest is paid semi-annually.

P.T.O.
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Compute the semi-annual yield to maturity of this bond.
What would be your answer if the current selling price

is Rs. 110 instead of Rs. 97. 10
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Write a short note on callable bonds and junk

bonds, 5

A company contemplates to issue a bond (face value
Rs. 100) with 7 years of life. The bond is to be redeemed
at 10% premium;> the coupon rate for the first two years
is 12%, for next two years it is 15% and 18% for the

rest of its life.
Compute :

) The value of the bond when the desired rate of

return by the bondholders is 15%. 4

@ Suppose the bond is currently selling at Rs. 100
in the market, what would be its yield to
maturity ? 6

P.T.O.
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(a) Explain the different forms of Efficient Market Theory. 8

() What do you understand by Dow Theory ? 7

P.TO.
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(a) Explain the Elliot Wave Theory of technical analysis. 8

()] XYZ Ltd. has paid a dividend of Rs. 3 per share on the

face value of Rs. 10. The following information is given

below :
Current market price per share Rs. 70
.

Growth Rate 10%
Beta of the share 0.75
Market return 15%
Risk free rate 9%
Compute the intrinsic value of the share. 7

P.T.O.
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What are the major expenses associated with investment

in mutual funds ? 5
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An investor is holding two stocks X and Y in her portfolio.
An investment analyst has supplied you the following

ex-ante probability distribution of two stocks and market

Index :

Economic Conditional Return
Probability

Condition X Y Market

Boom 04 20- 18 19

Normal 03 11 15 14

Recession 03 -6 -9 -7

The risk free rate is expected to be 7%. Assume that the
CAPM conditions hold true, should investor continue to

hold the same stocks or not. 10
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Explain Exchange Traded Funds. 5

A three month call option premium is Rs. 5 and 3-month
put option premium is Rs. 7. Assume that the exercise
price for both the cases is Rs. 100, find out the net payoff
of call option buyer, call option writer, put option buyer
as well as put option writer along with the graph when
spot'price of the share on tfxe exercise day is Rs. 95,

Rs. 98, Rs. 100, Rs. 103, Rs. 105, Rs. 107 and

Rs. 110. 10
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Write short notes oﬁ any three of the folloWing : 15
o Ny
(i) Depository System
(;'ii) Stoc-k Lending Scheme
(iv)' Price Sensitive Information.
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Briefly explain Securities Ombud,smari. 5

Ambros Ltd. has just paid a dividend of Rs. 2.per share.
The growth rate of the firm is 8% for three years and
then it is expected vto grow @ 5% perpetually. Compute
the value of the share when required rate of retumv is

12%. ' 10
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